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y(=1) = 2 x(k)*h(0-k) =

L |

y(0) = i X(k)*h(0-k) = lex(k) *N(0—-k) =x(0)-h(0) + x(2)-h(-1) =1

k=-o0

1 1 05 0 1

y() = ix(k) *h(0—K) = lex(k) +h(L-k) = x(0) - h(1) + x(1) - h(0) = 2.5

k=—w0

1 2 05 1 25

y(2) = ix(k) *h(0—K) = lex(k) +h(2—k) = x(0) - h(2) + x(@) - h(1) = 2

k=-o0

1 1 05 2 2
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y@) = 3 x(k)*h(0-k) = lex(k) +h(3—Kk) = x(0)- h(3) + x(1) - h(2) = 0.5

k=-o0

1 0 05 1 05

y(4) = i X(k)*h(0—-k) = le X(k)*h(4 —k) =x(0)-h(4)+x(1)-h(3)=0

k=-o0

1 0 05 0 0
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foo{[<2 foo=2]¢>2; f(0=0]

h(x){ h(+2) = 0.2 h(+1) = -0.2, h(0) =1.0 }

f(x) h(x)

X(-2)h[-2 - (-2)]+ x(~Dh[-2 - (-D)]+ x(0)h[-2 - (0)]+ x@)h[-2 - )]+ x(2)h[-2 - (2)]
2 x 1 + (2 x -02) + (2 x 02) + (2 x 0 + (2 x 0)=2

x(=2)h[-1- (=2)]+ x(-D)h[-1~ (1) ]+ x(0)h[-1 - (0)]+ x@)h[-1- )]+ x(2)h[-1- (2)]
2 x -02) + (2 x 1) + (2 x =02 + (2 x 02) + (2 x 0)=1.6

x(=2)h[0 - (=2)]+ x(=Dh[0 - (=D)]+ x(0)h[0 - (0)]+ x@)h[0 - (V)] + x(2)h[0 - (2)]
2 x 02) + (2 x -02) + 2 x 1) + (2 x -02) + (2 x 02)=2

x(=2)h[L - (-2)]+ x(=-Dh[L - (-1)]+ x(0)h[L - (0)]+ x@)h[L - (V)] + x(2)h[L - (2)]
2 x 0) + 2 x 02) + (2 x -02) + (2 x 1) + (2 x -02)=16

x(=2)h[2 - (-2)]+ x(=Dh[2 - (-1)]+ x(0)h[2 - (0)]+ xW)h[2 - )]+ x(2)h[2 - (2)]
2 x 0 + (2 x 0 + (2 x 02 + (2 x -02) + (2 x =2



